Jeffers	on County Public So	chools												
Bid Tab	ulation													
Event Na	me: CHILLERS, WATER (AIR COOLED, SCREW COMPRESS	SOR)											
	: JCPS-8194	-	,											
Approval	Date: February 28, 2023													
	Received: January 26, 2023													
Contract I	Period: February 28, 2023 thr	ough February 27, 2024												
Renewals	: Two (2) annual renewal opti	ons.												
Comment	s: Awarded to Trane U.S. Inc.													
									D.05- /					
Item						Sample		Mfg/	<u>Mfg /</u> Provider Part			Vendor Response		Award
Number	Item/Service	Description	Commodity Code	UOM	Quantity		Vendor Name	Provider	Number	Unit Bid Price	Total Price	Item Notes	No Bid	Status
001	Chiller, water (air cooled), high efficiency, rotary/screw, cooling capacity of 150 tons.	Evaporator GPM: 171-626, Voltage 208/230/60/3, refrigerant: R-134A. Acceptable Manufacturers: McQuay, Trane & York. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: State warranty. Please state the number of days that guaranteed delivery can be made from receipt of purchase order.	1120110-1727710	1 - 1 Each Purchase	1	Νο	Trane U.S. INC.	Trane	ACRB150	\$207,855.00	\$207,855.00	Five (5) Year whole unit parts, labor and refrigerant loss warranty. Current manufacturing lead- time is 75 weeks (375 business days).		Awarded
002	Chiller, water (air cooled), high efficiency, rotary/screw, cooling capacity of 150 tons.	Evaporator GPM: 171-626, Voltage 460/60/3), refrigerant: R-134A. Acceptable Manufacturers: McQuay, Trane & York. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: State warranty. Please state the number of days that guaranteed delivery can be made from receipt of purchase order.	1120110-1729475	1 - 1 Each Purchase	1	No	Trane U.S. INC.	Trane	ACRB150	\$185,363.00	\$185,363.00	Five (5) Year whole unit parts, labor and refrigerant loss warranty. Current manufacturing lead- time is 75 weeks (375 business days).		Awarded
003	Chiller, water (air cooled), high efficiency, rotary/screw, cooling capacity of 165 tons.	Evaporator GPM: 187-684, Voltage 208/230/60/3, refrigerant: R-134A. Acceptable Manufacturers: McQuay, Trane & York. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: State warranty. Please state the number of days that guaranteed delivery can be made from receipt of purchase order.	1120110-1726107	1 - 1 Each Purchase	1	No	Trane U.S. INC.	Trane	ACRB165	\$217,284.00	\$217,284.00	Five (5) Year whole unit parts, labor and refrigerant loss warranty. Current manufacturing lead- time is 75 weeks (375 business days).		Awarded

<u>ltem</u> <u>Number</u>	<u>Item/Service</u>	Description	<u>Commodity Code</u>	UOM	<u>Quantity</u>	<u>Sample</u> <u>Required</u>	Vendor Name	<u>Mfg /</u> Provider	<u>Number</u>	Unit Bid Price	Total Price	<u>Vendor Response</u> <u>Item Notes</u>	<u>No Bid</u>	<u>Award</u> <u>Status</u>
004	Chiller, water (air cooled), high efficiency, rotary/screw, cooling capacity of 165 tons.	Evaporator GPM: 187-684, Voltage 460/60/3, refrigerant: R-134A. Acceptable Manufacturers: McQuay, Trane & York. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: State warranty. Please state the number of days that guaranteed delivery can be made from receipt of purchase order.	1120110-1727701	1 - 1 Each Purchase	1	Νο	Trane U.S. INC.	Trane	ACRB165	\$194,792.00	\$194,792.00	Five (5) Year whole unit parts, labor and refrigerant loss warranty. Current manufacturing lead- time is 75 weeks (375 business days).		Awarded
005	Chiller, water (air cooled), high efficiency, rotary/screw, cooling capacity of 180 tons.	Evaporator GPM: 202-742, Voltage 208/230/60/3, refrigerant: R-134A. Acceptable Manufacturers: McQuay, Trane & York. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: State warranty. Please state the number of days that guaranteed delivery can be made from receipt of purchase order.	1120110-1725755	1 - 1 Each Purchase	1	Νο	Trane U.S. INC.	Trane	ACRB180	\$225,772.00	\$225,772.00	Five (5) Year whole unit parts, labor and refrigerant loss warranty. Current manufacturing lead- time is 75 weeks (375 business days).		Awarded
006	Chiller, water (air cooled), high efficiency, rotary/screw, cooling capacity of 180 tons.	Evaporator GPM: 202-742, Voltage 460/60/3, refrigerant: R-134A. Acceptable Manufacturers: McQuay, Trane & York. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: State warranty. Please state the number of days that guaranteed delivery can be made from receipt of purchase order.	1120110-1731135	1 - 1 Each Purchase	1	No	Trane U.S. INC.	Trane	ACRB180	\$203,279.00	\$203,279.00	Five (5) Year whole unit parts, labor and refrigerant loss warranty. Current manufacturing lead- time is 75 weeks (375 business days).		Awarded
007	Chiller, water (air cooled), high efficiency, rotary/screw, cooling capacity of 200 tons.	Evaporator GPM: 261-957, Voltage 208/230/60/3, refrigerant: R-134A. Acceptable Manufacturers: McQuay, Trane & York. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: State warranty. Please state the number of days that guaranteed delivery can be made from receipt of purchase order.	1120110-1725756	1 - 1 Each Purchase	1	No	Trane U.S. INC.	Trane	ACRB200	\$238,148.00	\$238,148.00	Five (5) Year whole unit parts, labor and refrigerant loss warranty. Current manufacturing lead- time is 75 weeks (375 business days).		Awarded

Item						Sample		Mfg /				Vendor Response		Award
<u>Number</u> 008	Item/Service	Description Evaporator GPM: 228-835, Voltage 460/60/3, refrigerant: R-134A. Acceptable Manufacturers: McQuay, Trane & York. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: State warranty. Please state the number of days that guaranteed delivery can be made from receipt of purchase order.	<u>Commodity Code</u> 1120110-1731136	UOM 1 - 1 Each Purchase	Quantity 1	<u>Required</u> No	<u>Vendor Name</u> Trane U.S. INC.	<u>Provider</u> Trane	Number ACRB200	<u>Unit Bid Price</u> \$215,655.00	<u>Total Price</u> \$215,655.00	Item Notes Five (5) Year whole unit parts, labor and refrigerant loss warranty. Current manufacturing lead- time is 75 weeks (375 business days).	<u>No Bid</u>	<u>Status</u> Awarded
009	Chiller, water (air cooled), high efficiency, rotary/screw, cooling capacity of 225 tons.	Evaporator GPM: 267-957, Voltage 208/230/60/3, refrigerant: R-134A. Acceptable Manufacturers: McQuay, Trane & York. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: State warranty. Please state the number of days that guaranteed delivery can be made from receipt of purchase order.	1120110-1725757	1 - 1 Each Purchase	1	No	Trane U.S. INC.	Trane	ACRB225	\$258,146.00	\$258,146.00	Five (5) Year whole unit parts, labor and refrigerant loss warranty. Current manufacturing lead- time is 75 weeks (375 business days).		Awarded
010	Chiller, water (air cooled), high efficiency, rotary/screw, cooling capacity of 225 tons.	Evaporator GPM: 261-957, Voltage 460/60/3, refrigerant: R-134A. Acceptable Manufacturers: McQuay, Trane & York. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: State warranty. Please state the number of days that guaranteed delivery can be made from receipt of purchase order.	1120110-1731137	1 - 1 Each Purchase	1	No	Trane U.S. INC.	Trane	ACRB225	\$229,038.00	\$229,038.00	Five (5) Year whole unit parts, labor and refrigerant loss warranty. Current manufacturing lead- time is 75 weeks (375 business days).		Awarded
011	Chiller, water (air cooled), high efficiency, rotary/screw, cooling capacity of 250 tons.	Evaporator GPM: 288-1055, Voltage 208/230/60/3, refrigerant: R-134A. Acceptable Manufacturers: McQuay, Trane & York. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: State warranty. Please state the number of days that guaranteed delivery can be made from receipt of purchase order.	1120110-2013704	1 - 1 Each Purchase	1	No	Trane U.S. INC.	Trane	ACRB250	\$274,643.00	\$274,643.00	Five (5) Year whole unit parts, labor and refrigerant loss warranty. Current manufacturing lead- time is 75 weeks (375 business days).		Awarded

<u>ltem</u> <u>Number</u>	Item/Service	Description	<u>Commodity Code</u>	<u>UOM</u>	<u>Quantity</u>	Sample Required	Vendor Name	<u>Mfg /</u> Provider	<u>Number</u>	Unit Bid Price	Total Price	<u>Vendor Response</u> <u>Item Notes</u>	<u>No Bid</u>	<u>Award</u> Status
012	Chiller, water (air cooled), high efficiency, rotary/screw, cooling capacity of 250 tons.	Evaporator GPM: 288-1055, Voltage 460/60/3, refrigerant: R- 134A. Acceptable Manufacturers: McQuay, Trane & York. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: State warranty. Please state the number of days that guaranteed delivery can be made from receipt of purchase order.	1120110-2013705	1 - 1 Each Purchase	1	No	Trane U.S. INC.	Trane	ACRB250	\$245,535.00	\$245,535.00	Five (5) Year whole unit parts, labor and refrigerant loss warranty. Current manufacturing lead- time is 75 weeks (375 business days).		Awarded
013	Chiller, water (air cooled), high efficiency, rotary/screw, cooling capacity of 275 tons.	Evaporator GPM: 318-1165, Voltage 208/230/60/3, refrigerant: R-134A. Acceptable Manufacturers: McQuay, Trane & York. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: State warranty. Please state the number of days that guaranteed delivery can be made from receipt of purchase order.	1120110-2014945	1 - 1 Each Purchase	1	No	Trane U.S. INC.	Trane	ACRB275	\$290,631.00	\$290,631.00	Five (5) Year whole unit parts, labor and refrigerant loss warranty. Current manufacturing lead- time is 75 weeks (375 business days).		Awarded
014	Chiller, water (air cooled), high efficiency, rotary/screw, cooling capacity of 275 tons.	Evaporator GPM: 318-1165, Voltage 460/60/3, refrigerant: R-134A. Acceptable Manufacturers: McQuay, Trane & York. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: State warranty. Please state the number of days that guaranteed delivery can be made from receipt of purchase order.	1120110-2014946	1 - 1 Each Purchase	1	No	Trane U.S. INC.	Trane	ACRB275	\$261,523.00	\$261,523.00	Five (5) Year whole unit parts, labor and refrigerant loss warranty. Current manufacturing lead- time is 75 weeks (375 business days).		Awarded
015	Chiller, water (air cooled), high efficiency, rotary/screw, cooling capacity of 300 tons.	Evaporator GPM: 354-1299, Voltage 208/230/60/3, refrigerant: R-134A. Acceptable Manufacturers: McQuay, Trane & York. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: State warranty. Please state the number of days that guaranteed delivery can be made from receipt of purchase order.	1120110-2014436	1 - 1 Each Purchase	1	No	Trane U.S. INC.	Trane	ACRB300	\$307,051.00	\$307,051.00	Five (5) Year whole unit parts, labor and refrigerant loss warranty. Current manufacturing lead- time is 75 weeks (375 business days).		Awarded

<u>ltem</u> <u>Number</u>	Item/Service	Description	Commodity Code	<u>uom</u>	<u>Quantity</u>	<u>Sample</u> <u>Required</u>	Vendor Name	<u>Mfg /</u> Provider	<u>Number</u>	Unit Bid Price	Total Price	<u>Vendor Response</u> <u>Item Notes</u>	<u>No Bid</u>	<u>Award</u> Status
016	Chiller, water (air cooled), high efficiency, rotary/screw, cooling capacity of 300 tons.	Evaporator GPM: 354-1299, Voltage 460/60/3, refrigerant: R- 134A. Acceptable Manufacturers: McQuay, Trane & York. Please respond to the following in the VENDOR RESPONSE ITEM NOTES field: State warranty. Please state the number of days that guaranteed delivery can be made from receipt of purchase order.	1120110-2014437	1 - 1 Each Purchase	1	No	Trane U.S. INC.	Trane	ACRB300	\$277,942.00	\$277,942.00	Five (5) Year whole unit parts, labor and refrigerant loss warranty. Current manufacturing lead- time is 75 weeks (375 business days).		Awarded
	Vendor	Bid Amount	Award Amount											
	Trane U.S. INC.	\$7,665,314.00	\$7,665,314.00											